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It reduces levels of stress in the body (accept all reasonable answers)
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Candidates should have circled (or highlighted in any other way) the word
brew. If they have circled any other word(s) as well, do not award the mark.

9. C
10. A
1. C
12. sellotape

13. cash regqister rolls and fax rolls (candidates must have both answers to gain
the mark)
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Please note: It is not possible to predict every potential response to a question. Therefore, if a
candidate has written an answer which clearly indicates that they have correctly interpreted both
the question and the text, a mark should be awarded. Spelling and grammar should not be taken
into account in the reading exam.



